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PROBLEMA 133: 

¿Es divisible… 

𝑥ଷ + 𝑎ଷ

𝑥 + 𝑎
 

Justifica la respuesta. 

Solución Problema 133:  

𝑥ଷ + 𝑎ଷ

𝑥 + 𝑎
 

Hacemos la división de polinomios: 

   x3    +a3   : x+a 

         - x3-x2a                     x2-xa+a2 

                      +x2a+xa2 

                              +xa2+a3    

                              -xa2-a3    

                                     0 

Es decir, que: 

𝑥ଷ + 𝑎ଷ

𝑥 + 𝑎
= (𝑥 + 𝑎) · (𝑥ଶ − 𝑥𝑎 + 𝑎ଶ) 

Como el resto, R= 0,  

𝑥ଷ + 𝑎ଷ

𝑥 + 𝑎
 𝑒𝑠 𝑑𝑖𝑣𝑖𝑠𝑖𝑏𝑙𝑒 

 

 

 


